BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
FEBRUARY 27, 2024
LJA ENGINEERING, INC.

LJA ENGINEERING, IN T. JOSEPH FEBRUARY 27, 2024 6965-1310 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	NO. 1 BID ITEMS
1) CROSTEX CONSTRUCTION, INC.	\$1,220,000.00	\$1,556,339.00
2) GONZALEZ CONSTRUCTION ENTERPRISE, INC.	\$1,243,801.57	\$1,585,810.97
3) DIMAS BROS. CONSTRUCTION, LLC	\$1,258,500.00	\$1,612,458.80
4) R CONSTRUCTION CIVIL, LLC	\$1,322,246.00	\$1,651,414.00
5) CE BARKER, LTD.	\$1,381,431.00	\$1,782,626.00
6) BLAZEY CONSTRUCTION SERVICES, LLC	\$1,467,442.00	\$1,835,603.00

# CALENDAR DAYS 60/70



I, Justin Graham, PE, hereby certify these bid tabulations to be true and correct.

Page 1 of 9 FRN F-1386
LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10 EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5 MONTGOMERY COUNTY, TEXAS FEBRUARY 27, 2024 LJA ENGINEERING, INC.

2) GONZALEZ CONSTRUCTION ENTERPRISE, INC.

T. JOSEPH FEBRUARY 27, 2024 6965-1310 (9.2)

1) CROSTEX CONSTRUCTION, INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS									
	PE, C-900,DR18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING LUDES COMPLETE IN PLACE	LF	940	\$32.75	\$30,785.00	\$35.63	\$33,492.20	\$37.70	\$35,438.00
	PE, C-900, DR18, CLASS 235, RESTRAINED JOINTS, ALL DEPTHS, & AND BACKFILL, COMPLETE IN PLACE	LF	2928	\$40.25	\$117,852.00	\$45.14	\$132,169.92	\$44.65	\$130,735.20
	T, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE FIRE HYDRANT, COMPLETE IN PLACE	EA	9	\$6,100.00	\$54,900.00	\$6,048.92	\$54,440.28	\$5,660.00	\$50,940.00
4 DUCTILE IRON FITTI	NGS, COMPLETE IN PLACE	TON	0.97	\$5,600.00	\$5,432.00	\$4,000.00	\$3,880.00	\$4,600.00	\$4,462.00
5 TRENCH SAFETY SY	STEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3964	\$1.00	\$3,964.00	\$1.00	\$3,964.00	\$1.00	\$3,964.00
PROPOSED 8" WATE	CLAMP AND 2" BLOW OFF VALVE (BY OTHERS) AND CONNECT ER LINE INCLUDES ALL NECESSARY ADAPTERS, AND T CONNECT), ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$385.00	\$1,155.00	\$100.00	\$300.00	\$584.00	\$1,752.00
7 6" P.V.C. WATER PIP AND BACKFILL, COM	PE, C-900, DR18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING IPLETE IN PLACE	LF	118	\$23.25	\$2,743.50	\$24.27	\$2,863.86	\$24.40	\$2,879.20
8 6" PLUG AND CLAMF	P, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$100.00	\$100.00	\$140.00	\$140.00
9 8" AWWA GATE VAL	VE AND BOX, COMPLETE IN PLACE	EA	8	\$1,765.00	\$14,120.00	\$1,978.35	\$15,826.80	\$1,555.00	\$12,440.00
10 AUGER 8" WATER LI	INE, COMPLETE IN PLACE	LF	22	\$100.00	\$2,200.00	\$196.56	\$4,324.32	\$20.00	\$440.00
11 2" BLOW OFF VALVE	E, COMPLETE IN PLACE	EA	1	\$1,140.00	\$1,140.00	\$558.09	\$558.09	\$684.00	\$684.00
WATER ITEMS SUBTOTAL	a				\$234,391.50		\$251,919.47		\$243,874.40
SANITARY SEWER ITEMS									
1 8" P.V.C. GREEN SEV AND BACKFILL, COM	WER PIPE, ASTM D-2241,SDR 26, 0-8' CUT, INCLUDES BEDDING MPLETE IN PLACE	LF	2231	\$36.50	\$81,431.50	\$41.97	\$93,635.07	\$45.40	\$101,287.40
	EEN SEWER PIPE, ASTM D-2241, SDR 26, 0'-8' CUT, INCLUDES KFILL, COMPLETE IN PLACE	LF	11	\$200.00	\$2,200.00	\$305.37	\$3,359.07	\$48.00	\$528.00
	WER PIPE, ASTM D-2241, SDR 26, 12'-16' CUT, INCLUDES KFILL, COMPLETE IN PLACE	LF	116	\$41.50	\$4,814.00	\$44.31	\$5,139.96	\$48.00	\$5,568.00
4 SANITARY SEWER M	MANHOLE VENT FOR SEALED MANHOLE, COMPLETE IN PLACE	EA	2	\$5,000.00	\$10,000.00	\$2,593.69	\$5,187.38	\$2,550.00	\$5,100.00
	WER PIPE,ASTM D-2241, SDR 26, 8'-12' CUT, INCLUDES (FILL, COMPLETE IN PLACE	LF	1741	\$37.75	\$65,722.75	\$43.14	\$75,106.74	\$46.00	\$80,086.00
	RY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (0'- S INFLOW PROTECTOR, COMPLETE IN PLACE	EA	33	\$3,025.00	\$99,825.00	\$2,533.05	\$83,590.65	\$3,155.00	\$104,115.00
7 EXTRA DEPTH OF SA	ANITARY MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	36	\$303.00	\$10,908.00	\$125.00	\$4,500.00	\$135.00	\$4,860.00
26, CLASS 160,ALL D	LE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR BEPTHS, INCLUDING DROP STRUCTURE, CEMENT STABILIZED ACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY MPLETE IN PLACE	LF	2513	\$40.00	\$100,520.00	\$49.54	\$124,494.02	\$47.50	\$119,367.50
SDR 26,CLASS 160, A	BLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, PLUG, DROP STRUCTURE, MARKER, AND ANY NECESSARY MPLETE IN PLACE	EA	44	\$1,265.00	\$55,660.00	\$1,291.06	\$56,806.64	\$984.00	\$43,296.00
	SANITARY SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT CTION OF THE ENGINEER), COMPLETE IN PLACE	LF	4099	\$2.50	\$10,247.50	\$0.10	\$409.90	\$0.10	\$409.90

3) DIMAS BROS. CONSTRUCTION, LLC

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS FEBRUARY 27, 2024 LJA ENGINEERING, INC. T. JOSEPH

				1) CROSTEX CONSTR	RUCTION, INC.	2) GONZALEZ CONSTRUCTIO	N ENTERPRISE, INC.	3) DIMAS BROS. CON	STRUCTION, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
11 TRENC	H SAFETY SYSTEM, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6479	\$1.00	\$6,479.00	\$1.00	\$6,479.00	\$1.00	\$6,479.00
	TERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY ECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
CONST	ONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND RUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY IGINEER), COMPLETE IN PLACE	LF	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00
SANITA	NTO EXISTING SANITARY MANHOLE, AND CONNECT PROPOSED 8" RY SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND 3S, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00	\$1,579.50	\$3,159.00	\$1,350.00	\$2,700.00
15 STAND PLACE	ARD SANITARY SEWER DROP AT MANHOLE, (3.0' DEPTH), COMPLETE IN	EA	1	\$750.00	\$750.00	\$766.35	\$766.35	\$775.00	\$775.00
	DEPTH ON STANDARD SANITARY SEWER DROP, (OVER 3.0' OF DEPTH), ETE IN PLACE	VF	1.8	\$75.00	\$135.00	\$24.25	\$43.65	\$20.00	\$36.00
SANITARY SE	EWER ITEMS SUBTOTAL:				\$468,692.75	·	\$478,677.43		\$490,607.80
DRAINAGE F	ACILITIES ITEMS								
SEWEF BACKF	H PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM R, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND ILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF B, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	1669	\$65.00	\$108,485.00	\$69.92	\$116,696.48	\$72.05	\$120,251.45
SEWEF BACKF	H PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM R, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND ILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF B, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	1255	\$88.00	\$110,440.00	\$87.84	\$110,239.20	\$94.50	\$118,597.50
SEWEF BACKF	H PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM R, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND ILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF B, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	456	\$98.00	\$44,688.00	\$108.24	\$49,357.44	\$101.00	\$46,056.00
	I, STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES INLET PROTECTION ER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	28	\$3,000.00	\$84,000.00	\$1,111.50	\$31,122.00	\$1,111.00	\$31,108.00
	II - STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES TEMPORARY SAND- BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN	EA	28	\$450.00	\$12,600.00	\$2,334.15	\$65,356.20	\$2,020.00	\$56,560.00
	I - STANDARD 10' PRECAST INLET (INCLUDES INLET PROTECTION BARRIER TAGE I INLETS), COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$1,287.00	\$1,287.00	\$1,500.00	\$1,500.00
	II - STANDARD 10' PRECAST INLET (INCLUDES TEMPORARY SAND-FILLED P BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	1	\$1,175.00	\$1,175.00	\$2,872.35	\$2,872.35	\$2,385.00	\$2,385.00
	TERING FOR STORM SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS TED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
CONST	ONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND RUCTION, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE EER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00

FEBRUARY 27, 2024 6965-1310 (9.2)

FRN F-1386 Page 3 of 9

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAG TO SERVE TAVOLA WEST SECTION 10
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
FEBRUARY 27, 2024
LJA ENGINEERING, INC.
T. JOSEPH
FEBRUARY 27, 2024
6965-1310 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			1) CROSTEX CONS	TRUCTION, INC.	2) GONZALEZ CONSTR	RUCTION ENTERPRISE, INC.	3) DIMAS BROS. COM	NSTRUCTION, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 TYPE C MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	22	\$2,800.00	\$61,600.00	\$2,749.50	\$60,489.00	\$3,365.00	\$74,030.00
11 WATER, OFFSITE STORM SEWER, SANITARY SEWER, AND STORM SEWER SPOIL TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES PROJECT SITE UTILIZING OFF-ROAD TRUCKS AND PLACED AND COMPACT 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORA TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISTING ROADWAYS, COMPLETE IN PLACE	OFTHE ED TO RY	1	\$27,000.00	\$27,000.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00
12 TRENCH SAFETY SYSTEM, ALL SIZES AND ALL DEPTHS, COMPLETE IN PLACE	CE LF	3380	\$1.00	\$3,380.00	\$1.00	\$3,380.00	\$1.00	\$3,380.00
13 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCT EXIT, SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED THE ENGINEER), COMPLETE IN PLACE		1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
14 STORM WATER POLLUTION PREVENTION PLAN, INCLUDES CONTRACTOR: BOOKLET, NOI & NOT, COMPLETE IN PLACE	S LS	1	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
15 METHOD "A" FULL CONSTRUCTION STAKING (BY GBI PARTNERS COORDIN. WITH JON BORDOVSKY: 281.499.4539), OWNER ONLY PROVIDES LIMITED CONTROL STAKING, COMPLETE IN PLACE	ATE LS	1	\$18,600.00	\$18,600.00	\$17,217.00	\$17,217.00	\$17,217.00	\$17,217.00
16 CONCRETE TRUCK WASHOUT, (INCLUDES INSTALLATION, MAINTENANCE, REMOVAL), COMPLETE IN PLACE	AND EA	1	\$750.00	\$750.00	\$500.00	\$500.00	\$200.00	\$200.00
17 SELECT CLEARING AND GRUBBING AND STRIPPING, DEBRIS TO BE HAULE OFFSITE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE PLACE		1	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
18 INSTALL AND MAINTAIN FILTER FABRIC FENCE ALONG BOUNDARY BEFORI CONSTRUCTION STARTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN		5267	\$1.00	\$5,267.00	\$1.00	\$5,267.00	\$1.00	\$5,267.00
19 INSTALL AND MAINTAIN REINFORCED FABRIC BARRIER ALONG BOUNDAR! CONVEYANCE CHANNEL 1 BEFORE CONSTRUCTION STARTS (AS DIRECTE THE ENGINEER), COMPLETE IN PLACE		1414	\$1.50	\$2,121.00	\$1.50	\$2,121.00	\$1.50	\$2,121.00
20 CORE INTO EXISTING STORM MANHOLE, AND CONNECT PROPOSED 24*ST SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTI COMPLETE IN PLACE		3	\$750.00	\$2,250.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00
21 CORE INTO EXISTING STORM MANHOLE, AND CONNECT PROPOSED 30" SI SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTIN COMPLETE IN PLACE		1	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
22 CORE INTO EXISTING STORM MANHOLE, AND CONNECT PROPOSED 36" SI SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTIN COMPLETE IN PLACE		2	\$950.00	\$1,900.00	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00
DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$514,856.00		\$511,904.67		\$523,172.95
MISCELLANEOUS ITEMS								
1 ADJUST EXISTING MANHOLE RIM ELEVATION AS REQUIRED, (TO BE USED AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	ONLY EA	1	\$150.00	\$150.00	\$300.00	\$300.00	\$444.85	\$444.85
2 STORM WATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEI BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	EKLY LS	1	\$1,909.75	\$1,909.75	\$1,000.00	\$1,000.00	\$400.00	\$400.00
3 DEDUCT FOR DAMAGE TO TREES OUTSIDE CLEARING LIMITS OR MARKED PRESERVATION, COMPLETE IN PLACE	FOR EA	0	\$1,000.00	\$0.00	\$1,000.00	\$0.00	\$1,000.00	\$0.00
4 DEDUCT FOR DAMAGE TO OWNER INSTALLED EROSION CONTROL FENCE COMPLETE IN PLACE	, LF	0	\$2.00	\$0.00	\$2.00	\$0.00	\$2.00	\$0.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$2,059.75		\$1,300.00		\$844.85

Page 4 of 9

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
FEBRUARY 27, 2024
LJA ENGINEERING, INC.

2) GONZALEZ CONSTRUCTION ENTERPRISE, INC.

3) DIMAS BROS. CONSTRUCTION, LLC

T. JOSEPH FEBRUARY 27, 2024 6965-1310 (9.2)

				1) CROSTEX CONS	TRUCTION, INC.	2) GONZALEZ CONSTRUCT	ION ENTERPRISE, INC.	3) DIMAS BROS. CON	STRUCTION, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ALTERNATE BID NO. 1 BID I	TEMS								
1 24" R.C.P. STORM SEV AND BACKFILL, COMP	VER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	1668	\$83.00	\$138,444.00	\$85.10	\$141,946.80	\$89.20	\$148,785.60
2 30" R.C.P. STORM SEV AND BACKFILL, COMP	VER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	1255	\$105.00	\$131,775.00	\$106.60	\$133,783.00	\$110.00	\$138,050.00
3 36" R.C.P. STORM SEV AND BACKFILL, COMP	VER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	456	\$145.00	\$66,120.00	\$145.35	\$66,279.60	\$147.20	\$67,123.20
ALTERNATE BID NO. 1 BID I	TEMS SUBTOTAL:				\$336,339.00	~ U	\$342,009.40		\$353,958.80
BIDDING SUMMARY									
SUBTOTAL WATER ITEMS					\$234,391.50		\$251,919.47		\$243,874.40
SUBTOTAL SANITARY SEWE	R ITEMS				\$468,692.75		\$478,677.43		\$490,607.80
SUBTOTAL DRAINAGE FACIL	ITIES ITEMS				\$514,856.00		\$511,904.67		\$523,172.95
SUBTOTAL MISCELLANEOUS	SITEMS				\$2,059.75		\$1,300.00		\$844.85
TOTAL AMOUNT BASE BID					\$1,220,000.00		\$1,243,801.57		\$1,258,500.00
ALTERNATE BID NO. 1 BID IT	<u>rems</u>								
TOTAL AMOUNT BASE BID					\$1,220,000.00		\$1,243,801.57		\$1,258,500.00
SUBTOTAL ALTERNATE BID I	NO. 1 BID ITEMS				\$336,339.00		\$342,009.40		\$353,958.80
TOTAL AMOUNT INCLUDING	ALTERNATE BID NO. 1 BID ITEMS				\$1,556,339.00		\$1,585,810.97		\$1,612,458.80
		, I							

1) CROSTEX CONSTRUCTION, INC.

Page 5 of 9 FRN F-1386 LJA Engineering, Inc.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10 EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5 MONTGOMERY COUNTY, TEXAS FEBRUARY 27, 2024

LJA ENGINEERRING, INC.
T. JOSEPH
FEBRUARY 27, 2024

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

207.002 110.			0000	, 1010 (0.2)					
				4) R CONSTRUCT		5) CE BARK		6) BLAZEY CONSTRUCT	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS									•
1 8" P.V.C. WATER PIPE, C-900,DR AND BACKFILL, INCLUDES COM	118, CLASS 235, ALL DEPTHS, INCLUDES BEDDING PLETE IN PLACE	LF	940	\$36.00	\$33,840.00	\$36.00	\$33,840.00	\$34.00	\$31,960.00
2 8" P.V.C. WATER PIPE, C-900, DF INCLUDES BEDDING AND BACK	R18, CLASS 235, RESTRAINED JOINTS, ALL DEPTHS, FILL, COMPLETE IN PLACE	LF	2928	\$46.00	\$134,688.00	\$42.00	\$122,976.00	\$47.00	\$137,616.00
3 FIRE HYDRANT UNIT, ALL DEPTI & BOX, 6" LEAD AND FIRE HYDR	HS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE ANT, COMPLETE IN PLACE	EA	9	\$7,100.00	\$63,900.00	\$5,400.00	\$48,600.00	\$6,500.00	\$58,500.00
4 DUCTILE IRON FITTINGS, COMP	LETE IN PLACE	TON	0.97	\$5,400.00	\$5,238.00	\$4,800.00	\$4,656.00	\$6,300.00	\$6,111.00
5 TRENCH SAFETY SYSTEM, ALL S	SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3964	\$1.00	\$3,964.00	\$1.00	\$3,964.00	\$1.00	\$3,964.00
PROPOSED 8" WATER LINE INCI	2" BLOW OFF VALVE (BY OTHERS) AND CONNECT LUDES ALL NECESSARY ADAPTERS, AND ), ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$300.00	\$900.00	\$1,300.00	\$3,900.00	\$780.00	\$2,340.00
7 6" P.V.C. WATER PIPE, C-900, DF AND BACKFILL, COMPLETE IN PI	R18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING LACE	LF	118	\$28.00	\$3,304.00	\$28.00	\$3,304.00	\$31.00	\$3,658.00
8 6" PLUG AND CLAMP, COMPLET	E IN PLACE	EA	1	\$160.00	\$160.00	\$1,500.00	\$1,500.00	\$300.00	\$300.00
9 8" AWWA GATE VALVE AND BOX	K, COMPLETE IN PLACE	EA	8	\$2,300.00	\$18,400.00	\$1,850.00	\$14,800.00	\$2,100.00	\$16,800.00
10 AUGER 8" WATER LINE, COMPLI	ETE IN PLACE	LF	22	\$500.00	\$11,000.00	\$180.00	\$3,960.00	\$130.00	\$2,860.00
11 2" BLOW OFF VALVE, COMPLET	E IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00	\$1,800.00	\$1,800.00
WATER ITEMS SUBTOTAL:					\$276,894.00		\$243,200.00		\$265,909.00
SANITARY SEWER ITEMS									
1 8" P.V.C. GREEN SEWER PIPE, A AND BACKFILL, COMPLETE IN P	ASTM D-2241,SDR 26, 0-8' CUT, INCLUDES BEDDING LACE	LF	2231	\$39.00	\$87,009.00	\$48.00	\$107,088.00	\$44.00	\$98,164.00
2 AUGER 8" P.V.C GREEN SEWER BEDDING AND BACKFILL, COMP	PIPE, ASTM D-2241, SDR 26, 0'-8' CUT, INCLUDES LETE IN PLACE	LF	11	\$500.00	\$5,500.00	\$280.00	\$3,080.00	\$55.00	\$605.00
3 8" P.V.C. GREEN SEWER PIPE, A BEDDING AND BACKFILL, COMP	ASTM D-2241, SDR 26, 12'-16' CUT, INCLUDES PLETE IN PLACE	LF	116	\$44.00	\$5,104.00	\$60.00	\$6,960.00	\$51.00	\$5,916.00
4 SANITARY SEWER MANHOLE VE	ENT FOR SEALED MANHOLE, COMPLETE IN PLACE	EA	2	\$2,500.00	\$5,000.00	\$425.00	\$850.00	\$5,900.00	\$11,800.00
5 8" P.V.C. GREEN SEWER PIPE,A: BEDDING AND BACKFILL, COMP	STM D-2241, SDR 26, 8'-12' CUT, INCLUDES LETE IN PLACE	LF	1741	\$40.00	\$69,640.00	\$50.00	\$87,050.00	\$47.00	\$81,827.00
	MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (0'- PROTECTOR, COMPLETE IN PLACE	EA	33	\$3,000.00	\$99,000.00	\$3,000.00	\$99,000.00	\$3,000.00	\$99,000.00
7 EXTRA DEPTH OF SANITARY MA	NHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	36	\$200.00	\$7,200.00	\$280.00	\$10,080.00	\$350.00	\$12,600.00
26, CLASS 160,ALL DEPTHS, INC	LE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR LUDING DROP STRUCTURE, CEMENT STABILIZED WYE, PLUG, MARKER, AND ANY NECESSARY PLACE	LF	2513	\$44.00	\$110,572.00	\$56.00	\$140,728.00	\$56.00	\$140,728.00
SDR 26,CLASS 160, ALL DEPTHS	SLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, 5, INCLUDING CEMENT STABILIZED SAND BACKFILL, IP STRUCTURE, MARKER, AND ANY NECESSARY ILACE	EA	44	\$1,400.00	\$61,600.00	\$1,750.00	\$77,000.00	\$1,600.00	\$70,400.00
	SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT HE ENGINEER), COMPLETE IN PLACE	LF	4099	\$2.00	\$8,198.00	\$2.00	\$8,198.00	\$3.00	\$12,297.00

6965-1310 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAYOLA WEST SECTION 10
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS FEBRUARY 27, 2024 LJA ENGINEERING, INC.

T. JOSEPH FEBRUARY 27, 2024 6965-1310 (9.2)

				( ,					
				4) R CONSTRUCT	TION CIVIL, LLC	5) CE BARK	ER, LTD.	6) BLAZEY CONSTRUCT	TION SERVICES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
11	TRENCH SAFETY SYSTEM, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6479	\$1.00	\$6,479.00	\$1.00	\$6,479.00	\$1.00	\$6,479.00
12	DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
13	ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00
14	CORE INTO EXISTING SANITARY MANHOLE, AND CONNECT PROPOSED 8" SANITARY SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTINGS, COMPLETE IN PLACE	EA	2	\$1,800.00	\$3,600.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
15	STANDARD SANITARY SEWER DROP AT MANHOLE, (3.0' DEPTH), COMPLETE IN PLACE	EA	1	\$650.00	\$650.00	\$1,200.00	\$1,200.00	\$1,700.00	\$1,700.00
16	EXTRA DEPTH ON STANDARD SANITARY SEWER DROP, (OVER 3.0' OF DEPTH), COMPLETE IN PLACE	VF	1.8	\$120.00	\$216.00	\$85.00	\$153.00	\$90.00	\$162.00
SANI	TARY SEWER ITEMS SUBTOTAL:				\$485,768.00		\$568,866.00		\$561,678.00
DRA	NAGE FACILITIES ITEMS								
1	24" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1" OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	1669	\$65.00	\$108,485.00	\$80.00	\$133,520.00	\$71.00	\$118,499.00
2	30" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1" OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	1255	\$92.00	\$115,460.00	\$105.00	\$131,775.00	\$96.00	\$120,480.00
3	36" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	456	\$105.00	\$47,880.00	\$120.00	\$54,720.00	\$110.00	\$50,160.00
4	STAGE I, STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	28	\$1,200.00	\$33,600.00	\$1,550.00	\$43,400.00	\$1,900.00	\$53,200.00
5	STAGE II - STANDARD 5' PRECAST INLET ("B-B"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	28	\$2,800.00	\$78,400.00	\$1,500.00	\$42,000.00	\$3,100.00	\$86,800.00
6	STAGE I - STANDARD 10' PRECAST INLET (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$2,050.00	\$2,050.00	\$2,600.00	\$2,600.00
7	STAGE II - STANDARD 10' PRECAST INLET (INCLUDES TEMPORARY SAND-FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	1	\$3,200.00	\$3,200.00	\$1,650.00	\$1,650.00	\$4,000.00	\$4,000.00
8	DEWATERING FOR STORM SEWER, ALL SIZES, ALL DEPTHS,(TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
9	ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00

FRN F-1386 Page 7 of 9

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10 EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5 MONTGOMERY COUNTY, TEXAS FEBRUARY 27, 2024 LJA ENGINEERING, INC. T. JOSEPH

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

LJA JOB NO.		696	5-1310 (9.2)					
			4) R CONSTRUCT	TION CIVIL, LLC	5) CE BARKE	ER, LTD.	6) BLAZEY CONSTRUCT	ION SERVICES, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 TYPE C MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	22	\$3,400.00	\$74,800.00	\$3,100.00	\$68,200.00	\$4,500.00	\$99,000.00
11 WATER, OFFSITE STORM SEWER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES OFTHE PROJECT SITE UTILIZING OFF-ROAD TRUCKS AND PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISTING ROADWAYS, COMPLETE IN PLACE	'LS	1	\$29,000.00	\$29,000.00	\$10,000.00	\$10,000.00	\$24,000.00	\$24,000.00
12 TRENCH SAFETY SYSTEM, ALL SIZES AND ALL DEPTHS, COMPLETE IN PLACE	LF	3380	\$1.00	\$3,380.00	\$1.00	\$3,380.00	\$1.00	\$3,380.00
13 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,700.00	\$2,700.00
14 STORM WATER POLLUTION PREVENTION PLAN, INCLUDES CONTRACTOR'S BOOKLET, NOI & NOT, COMPLETE IN PLACE	LS	1	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00	\$2,800.00	\$2,800.00
15 METHOD "A" FULL CONSTRUCTION STAKING (BY GBI PARTNERS COORDINATE WITH JON BORDOVSKY: 281.499.4539), OWNER ONLY PROVIDES LIMITED CONTROL STAKING, COMPLETE IN PLACE	LS	1	\$17,217.00	\$17,217.00	\$17,217.00	\$17,217.00	\$17,217.00	\$17,217.00
16 CONCRETE TRUCK WASHOUT, (INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
17 SELECT CLEARING AND GRUBBING AND STRIPPING, DEBRIS TO BE HAULED OFFSITE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
18 INSTALL AND MAINTAIN FILTER FABRIC FENCE ALONG BOUNDARY BEFORE CONSTRUCTION STARTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	5267	\$2.00	\$10,534.00	\$1.00	\$5,267.00	\$2.00	\$10,534.00
19 INSTALL AND MAINTAIN REINFORCED FABRIC BARRIER ALONG BOUNDARIES FOR CONVEYANCE CHANNEL 1 BEFORE CONSTRUCTION STARTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1414	\$2.00	\$2,828.00	\$1.50	\$2,121.00	\$2.50	\$3,535.00
20 CORE INTO EXISTING STORM MANHOLE, AND CONNECT PROPOSED 24* STORM SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTINGS, COMPLETE IN PLACE	EA	3	\$650.00	\$1,950.00	\$3,900.00	\$11,700.00	\$1,800.00	\$5,400.00
21 CORE INTO EXISTING STORM MANHOLE, AND CONNECT PROPOSED 30" STORM SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTINGS, COMPLETE IN PLACE	EA	1	\$650.00	\$650.00	\$4,300.00	\$4,300.00	\$1,900.00	\$1,900.00
22 CORE INTO EXISTING STORM MANHOLE, AND CONNECT PROPOSED 36" STORM SEWER, INCLUDES ALL NECESSARY CONNECTORS, ADAPTERS AND FITTINGS, COMPLETE IN PLACE	EA	2	\$650.00	\$1,300.00	\$4,600.00	\$9,200.00	\$2,200.00	\$4,400.00
DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$558,284.00		\$568,100.00		\$636,605.00
MISCELLANEOUS ITEMS								
1 ADJUST EXISTING MANHOLE RIM ELEVATION AS REQUIRED, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$165.00	\$165.00	\$650.00	\$650.00
2 STORM WATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00	\$2,600.00	\$2,600.00
3 DEDUCT FOR DAMAGE TO TREES OUTSIDE CLEARING LIMITS OR MARKED FOR PRESERVATION, COMPLETE IN PLACE	EA	0	\$1,000.00	\$0.00	\$1,000.00	\$0.00	\$1,000.00	\$0.00
4 DEDUCT FOR DAMAGE TO OWNER INSTALLED EROSION CONTROL FENCE, COMPLETE IN PLACE	LF	0	\$2.00	\$0.00	\$2.00	\$0.00	\$2.00	\$0.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$1,300.00		\$1,265.00		\$3,250.00

FEBRUARY 27, 2024 6965-1310 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE TAVOLA WEST SECTION 10 EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5 MONTGOMERY COUNTY, TEXAS FEBRUARY 27, 2024

LJA ENGINEERING, INC. T. JOSEPH FEBRUARY 27, 2024 6965-1310 (9.2)

LJA JOB NO.			090	33-1310 (9.2)					
				4) R CONSTRUCTI	ION CIVIL, LLC	5) CE BARKE	R, LTD.	6) BLAZEY CONSTRUC	TION SERVICES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ALTERNATE BID NO. 1 BID ITEMS									•
1 24" R.C.P. STORM SEWER, ASTI AND BACKFILL, COMPLETE IN P	M C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING PLACE	LF	1668	\$80.00	\$133,440.00	\$100.00	\$166,800.00	\$91.00	\$151,788.00
2 30" R.C.P. STORM SEWER, ASTI AND BACKFILL, COMPLETE IN P	M C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING PLACE	LF	1255	\$104.00	\$130,520.00	\$125.00	\$156,875.00	\$115.00	\$144,325.00
3 36" R.C.P. STORM SEWER, ASTI AND BACKFILL, COMPLETE IN P	M C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING PLACE	LF	456	\$143.00	\$65,208.00	\$170.00	\$77,520.00	\$158.00	\$72,048.00
ALTERNATE BID NO. 1 BID ITEMS SUE	BTOTAL:				\$329,168.00		\$401,195.00		\$368,161.00
BIDDING SUMMARY									
SUBTOTAL WATER ITEMS					\$276,894.00		\$243,200.00		\$265,909.00
SUBTOTAL SANITARY SEWER ITEMS					\$485,768.00		\$568,866.00		\$561,678.00
SUBTOTAL DRAINAGE FACILITIES ITE	MS				\$558,284.00		\$568,100.00		\$636,605.00
SUBTOTAL MISCELLANEOUS ITEMS					\$1,300.00		\$1,265.00		\$3,250.00
TOTAL AMOUNT BASE BID					\$1,322,246.00		\$1,381,431.00		\$1,467,442.00
ALTERNATE BID NO. 1 BID ITEMS									
TOTAL AMOUNT BASE BID					\$1,322,246.00		\$1,381,431.00		\$1,467,442.00
SUBTOTAL ALTERNATE BID NO. 1 BID	ITEMS				\$329,168.00		\$401,195.00		\$368,161.00
TOTAL AMOUNT INCLUDING ALTERN	ATE BID NO. 1 BID ITEMS				\$1,651,414.00		\$1,782,626.00		\$1,835,603.00
		W.,							

Page 9 of 9 FRN F-1386 LJA Engineering, Inc.